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REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIEEE = FA —6.19|F4/kWh
(1) PR} & 3R 2 B i = (SE % i 4% —86,100M) x E#EBiffi—1,000 = -6.19|F/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KIBHT=Y DT E RS 75,519 { 0.0048 HAE B 0.183 M
B: 1tdH1=YDFHLNGEE 96,530 [ 0.3827
C: 1tH-YDTEHARME 22,788 M 0.6584
LR = AXxa +BXx B8 +Vxy = 52300 H (100MEKEMIERAN)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHE®E —0M) x E#EB{H 1,000 = 0.00JF/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KkIBHT=Y DT E RS 75,519 { 0.0000 HAE B 0.000 [
B: 1tdHh1=YDFHLNGEE 96,530 [ 0.0000
C: 1tH-YDTEHARME 22,788 M 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIERA)
Q) HEHFAEBEM=A<BDEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00JF1/kWh
AS>COEE . HEARABEE=(A—C)XDx(1+HEHREK) = 0.00JF1/kWh
A: BTADIVTISARFEHE-(1-1843F) x TR 13.53 BMADOIVTTSAREHIE 11.45
B: EJTIAEREEEM (Fiik) 7.00 =P 6.9%
C: BMFHEEAEE M (Frik) 14.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F4/kWh
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REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIEEE = Fid 2.84|M/kWh
(1) PR¥} & 3R 2 B i = (SE % $Hfi#& —45,900M) x E#EBiffi-1,000 = 2.84|FH/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KIBHT=Y DT E RS 75,519 { 0.0275 HAE B 0.233 M
B: 1tdH1=YDFHLNGEE 96,530 [ 0.4792
C: 1tH-YDTEHARME 22,788 M 0.4275
LR = Axa +BXx B8 +Vxy = 58100 M (100MEKEMIERAN)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHE®E —0M) x E#EB{H 1,000 = 0.00JF/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KkIBHT=Y DT E RS 75,519 { 0.0000 HAE B 0.000 [
B: 1tdHh1=YDFHLNGEE 96,530 [ 0.0000
C: 1tH-YDTEHARME 22,788 M 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIERA)
Q) HEHFAEBEM=A<BDEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00JF1/kWh
AS>COEE . HEARABEE=(A—C)XDx(1+HEHREK) = 0.00JF1/kWh
A BTADIVT7ITSARAFEHE-(1-18KR) x HER 11.64 BMADOIVTTSAREHIE 9.83
B: EJTIAEREEEM (Fiik) 5.00 =P 7.1%
C: BMFHEEAEE M (Frik) 13.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.00|F4/kWh
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MHEFHAEHEB=DRHEREEM+QBS1—/\—Y LY —ERRE (M +Q)HE H LM

+@RERHEAEH= RED15kWhET Bid 59.40 =]
LS A 3.96 F/kWh
(1) BAR B ER B Bl = (P #RHiliA% —27,100M) x BE#EHfi 1,000 = RHD15kWhET 59.40|FM
20245128 ~202552 A FH DB S aHEE EEELs 3.96|F/kWh
A: kiHT=Y OFYRHEE 75,519 [ a: 0.0140
B: 1t&H =YD FHLNGIEHE 96,530 [ B: 0.3483 ~ 15kWh£E % B {iff 2475 [
C: 1tHIYDFEHRRME 22,788 M Y 0.7227 16kWh ~ ££ % B fiff 0.165 M

EHBREMER = Axa +Bx B +Vxy =51,100 H (100 KHmEERAN)

Q) BB A= /\—H LY —ERARE = (B S TR EHaRE —0M) x REEB{fH=1,000 = 0.00|F/kWh

20244128 ~2025%2 A £ DB Sk eHEHE

A: KB T=Y O F 5 [E M 75,519 [ a: 0.0000 HAEBE 0.000 M
B: 1tdhi=U D EHLNGIEE 96,530 [ B : 0.0000

C: 1tH=YDTEHRERME 22,788 M Y 0.0000

HMETYRE@EKR=AXa +BXxB8 +VXy=0H (100 KEHEZE R A)

Q) ENFBEM=A<BODIGE. HENFBHEM=(A—B)XDx(1+HEHE) = 0.00|F4/kWh

ASCOIGE . HENRBEM=(A—C)xDx(1+HERE) = 0.00{F/kWh

A: BTADIUTTSAREHE(1-BLZR) x ARE 11.26 BTADIUT TS5/ AFE 9.44
B: ETIAEEEEM (Futk) 5.00 JRE 7.8%
C: BhNGREEE AR (Fiik) 13.00 REEER 110%
D: BEIE 70%

4) RElHEH8IR%EE 0.00|H/kWh
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